Completing the Square

Complete the square. (a) (()C+5>1" 25
2
(@) x°+10x (b) (x:\_ I+>2._|6
(b) x%*+8x 2
() x%*-—8x (C’B (DC—4) -6
(d x%2-—6x+3 (o\) (I.—‘B) g -
(e) x%2—6x—-3 (e) (DC— 3)2 —~\2
()  x2+4x—3 (F) (oc+2)* —
Write in completed square format. - 2'_. 2*_5.
(a) x*-—5x . ( :::> 2. 4°\
(b) x%+7x (b) ( X3 ) B
(© x*+7x-5 (e) (ocr 2) 4_
(d) x*-9x-5 (0) (:x‘_—3-> 1o\
&) x2—9x+5 4
() x%—9x+13 (e ( C—;z —}_T.
= 2q
Complete the square. (‘F) (DC >
| (@) 2x*+12x (@) 2(oc+3Y "\%
(b) 2x%*+8x (b) 2(1"\'23 -9
| () 2x*>-8x (CB 2 (OC—Q.) -3

| (d) 2x?—8x+3 (3) 2 (-2)*-5

P(e) 2x%—6x+3 (e)Z(OC‘%‘)z"%_
(H  3x2—6x+3 (f) 3(3Q_\)°‘

(a) 3(cc-1Y+2
() 3 (oe+H*+ 2
() 4(ocr2Y -1\

Write in completed square format.
(a) 3x’—6x+5
(b) 3x*+6x+5

() 4x2+16x+5 (0 4 (< -2)* -
(d) 4x%—16x—5 ) 5(=-3)*-30
(e) 5x2-30x+9 ({;) 5(:(__3)2-,5“_

() 5x*>+30x—-9




